84.6966316014ms 4)/goett/Nonce=1 to goett

2)probe /goett/Nonce=1 to bupt

3)/goett/Nonce=8to bupt

3492481711ms

16.52351670

TONGJI

ANYANG

14.2494733631ms

1)/goett/Nonce=0 to tongji

1) ANYANG sends ping interest to TONGJI

2) ANYANG sends probe interest to BUPT

3) TONGJI sends ping interest to BUPT

4) BUPT forwards the probe interest to GOETTINGEN



5)Ping interest /goett/Nonce=0 is forwarded to Bupt 6)Data to Bupt
Data to Bupt

9

ANYANG TONGJI

) BUPT forwards the ping interest to GOETTINGEN
) GOETTINGEN sends back data to BUPT
) BUPT sends data to ANYANG
) BUPT sends data to TONGJI
9) GOETTINGEN sends data to BUPT again
No Pit Out Record because already received data for the probe interest in
step 6

5
6
7
8



